MACNEIL

GREAT [IDEAS ¢ GREAT RESULTS

TECH21 15HP FIXED RECTANGLE NOZZLE

90 Welham Road, Barrie, Ontario 705-722-7649
ITLE

15HP FIXE
PART NO
65-784-00-_MP

NGLE NOZZLE
DWG NO
65-784-00-_MP

BLY
‘ REV

MacNeil Wash Systems- Parts List *:

SHEET 1

OF 3




90 Welham Road, Barrie, Ontario 705-722-7649

TITLE 15HP FIXED RECTANGLE NOZZLE ASSEMBLY

>
<
i
(5]
w
[e]
ol
= -
|
S
oS
=3 ¢
o
W5
D6
a
=
8
o
Zo| ..
) i
n
Q| <
=° 3

MacNeil Wash Systems- Parts List



REF. DESCRIPTION PART NUMBER | QTY.
1 | FIXED NOZZLE WHEEL ASS'Y W/SHAFT | 65-744-00-MP 1
2 | WSHR SS FLAT SHIM 3/4" 80-512-000-S| 1
3 | WASHER FLAT 3/8" SS 80-106-000-SI 1
4 | NUT SS NYLOCK 3/8"-16 LOW PROFILE | 85-006-001-SIC 1
5 | NUT SS NYLOCK 1/4"-20 85-004-000-SIC 4
6 | WASHER SS FLAT 1/4" (0.056"/0.063" 80-104-000-SI 8

THK)
7 | SCREW SS BTN-HD 1/4"-20 X 1" 83-204-016-SIC 4
8 | WSHR SS FLAT THRUST 3/4" 80-612-000-S| 1
9 | HUB CAP - FIXED NOZZLE 65-708-02-MP 1
10 | SAFETY SCREEN - AIR DISCHARGE 65-731-01-PP 1
NOZZLE
11 | COTTER PIN SS 5/64" x 3/4" 86-056-012-S| 1
12 | 15HP FIXED RECTANGLE NOZZLE 65-784-10-_MP 1
SUB-ASS'Y

COLOR CHOICES FOR ITEM #6 ( RECTANGLE NOZZLE):
65-780-23-UP - BLUE
65-780-23-BP - BLACK

MacNeil Wash Systems- Parts List

GREAT IDEAS

90 Welham Road, Barrie, Ontario 705-722-7649

MACNEIL

GREAT RESULTS

TITLE

15HP FIXED RECTANGLE NOZZLE ASSEMBLY

PART NO
65-784-00-_MP

DWG NO
65-784-00-_MP

‘ REV
A

DATE:

SHEET 3 OF 3




